I'he boh peak



SC_integral_corr

I'he other component

In the runs with high Radon contamination, in the plot E vs tfullRMS2 two clusters of events appear
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't IS NOot ragon-relatea

't Is present also in run with a low level of Radon (while the other almost deasapper)
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't IS NOot ragon-relatea

It Is present also in run with a low level of Radon (while the other almost disappears)
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How Fe look like”
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Why tFUllRMS?
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tfullRMS is the RMS of the hit pixel transversal distribution i.e. a good indicator of the diffusion effect




Closure test (9°Fe)

Light yield
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Why tFUllRMS?
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Almost same distribution,
we can assume at the first
order that this curve works
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ADsorption lengtn

By assuming the z resolution above the expected smeared distribution of the
reconstructed z for an exponential behaviour with lamlbda = 50 cm was evaluated;

250 —— Exponential

Smeared A reasonable agreement was found with
experimental data, indicating an absorption length
of the order of 50 cm;
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47.91 cm is the absorption length for the 8 keV
photons emitted by the Cu fluorescence
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Light Yield

LIght yield benhaviour

20000

[[ATT[TT1
o]

[T
..-

.:,-:_

20000

18000

Light Yield

PRV R RN

lll
qnl.l

6000
4000 X"/ ndf 6.0216+06 /2 1.188e+06 / 4093
of Pl b - 1.4520+04 1 5709 ' pO 1.7e+04 +375.1
2000 - P S 8 p1 29.18 +2.543
- pe 0.5544 £ 0.1761 - p2 0.5636 + 0.008692
0’_111111111111111111‘\11111111111111 O_ L PR [N VRN T TN VRN (NN TN TR SN TN SN TR SR SN T AN SN SN SN SR N SN SO S
0 10 20 30 a0~ 50 60 — 0 10 20 30 40 50 60 70
o  zevalu #d (cm) z evaluated (cm)
Same function Element Kay Ka,
2 T 101084 450486 From the comparison of the fit plateaux, we
23 V 495220 494464
24 Cr 541472 5405509 Can expect about 7.5 keV for these events:
25 Mn 5,898.75 5,887.65
26 Fe 6,403.84  6,390.84
27 Co 693032 691530  Nichel or most probably copper from the
28 Ni 7.478.15 7,460.89 G _.vl
29 Cu 8,047.78 8,027.83 —
30 Zn 8,638.86 8,615.78



Conclusion

An X ray component is visible in LIME data:

- It is not correlated with the amount (presence) of Radon;

- It has an absorption length compatible with Cu fluorescence;

- A z distribution compatible with Cu emitted be the GEMSs;

- |f it Is copper excited by external radioactivity, we should see it also on the copper-cathode
side;

- To have it only from the GEM | see 2 possible explanations:

- Due to the internal content of U of GEM (1e-3 Ba/GEM);

- Due to camera+lens radioactivity (Bg of 40K);

We have to look into the simulation results



